
Name Date 
 

 
 

COUNTING QUARTERS, DIMES, NICKELS AND PENNIES  

SHEET 5 
 

 ____ ₵ 

 ____ ₵ 

 ____ ₵ 

 ____ ₵ 

 ____ ₵ 
 

Work out the correct totals for these coins. 

2 quarters + 3 dimes + 4 pennies = ____ ₵ + ____ ₵ + ____ ₵ = ____ ₵ 

3 quarters + 1 nickel + 2 pennies = ____ ₵ + ____ ₵ + ____ ₵ = ____ ₵ 

2 quarters + 2 dimes + 5 nickels = ____ ₵ + ____ ₵ + ____ ₵ = ____ ₵ 
 

2 quarters + 4 dimes + 6 pennies = ____ ₵ + ____ ₵ + ____ ₵ = ____ ₵ 

 



Name Date 
 

 
 

COUNTING QUARTERS, DIMES, NICKELS AND PENNIES  

SHEET 5 ANSWERS 

 36 ₵ 

 47 ₵ 

 76 ₵ 

 56 ₵ 

 96 ₵ 
 

Work out the correct totals for these coins. 

2 quarters + 3 dimes + 4 pennies = 50 ₵ + 30 ₵ + 4 ₵ = 84 ₵ 

3 quarters + 1 nickel + 2 pennies = 75 ₵ + 5 ₵ + 2 ₵ = 82 ₵ 

2 quarters + 2 dimes + 5 nickels = 50 ₵ + 20 ₵ + 25 ₵ = 95 ₵ 

2 quarters + 4 dimes + 6 pennies = 50 ₵ + 40 ₵ + 6 ₵ = 96 ₵ 
 

 


